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A GYAKORLO FELADATOK MEGOLDASA

FEJEZET: Algebrai kifejezések atalakitasa

a) 3x-(—=2x + 3); b)a-(3a2—13a—11); ¢) 6x3 —3x% — 8x + 15; d) 8x* + 14x3 +3x% = 5x = 2;
e)a* —b* ) x> —4x+3

-19 1 -25
a) T, b) g, C) 4, d) —3—, e) 49, f)ZO

a) a- (a +b) b) 2x2y - (3 — xy); ¢) 3ab- (2a2b 3ab2+4) d) 43y - 6y —7); €) (b—23)-(x—2);
f) 2+3y) (4x—3); g (x+2y)-(@*+3); h) —2a (x—5)
a) x2 + 4xy + 492 b) 25a% + 10ab + b%; ¢) 36a% — 60ab + 25b%; d) x* — 4xy + 4y?;

1
e) Zaz 4 2ab + 4b%; ) 4x2 + dxy + 2 g) 16a* —40a%b° +25b'0; h) 9x2 — 12xy + 4y*

1
a) x2—9; b) 25— x%; ¢) x? —Z; d) 2; e) 3; f) 9a*> —25b%; g) x—1—6y,h)25 3x2

a) 8b%; b) —5x% — 4xy + 4y?

a) (x—2y)-(x+2y); b) <2x—4y> <—§—x+4y>; ) (x—6)-(x+4); ) 2x—y—2)-Qx—y+2);
)4 -(4x+1)-Gx—1); ©)Ba—-1)-Ba+1); g (4x—5y2z)-(4x+5yzz); h)5-2x-1)

a) (a +20)% b) Gx+ D% ¢ 2a—3b)%; d) (ab+6)% €) (4x+ 11)%; 1) —(3+2x)% g 9x—5y)%;
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a)3-(c—d)% b) 12-(x—2y)- (x +2y); ©) 3x-(x+3)% d) b-(2a—3b); ) x*-(4—x);
f)db-(a—4)2% g O—x+y)-O+x—y); h)a-(a—2b)*

a)(x—1D-(@+1); b)y(@a=b) (x—1); ¢) Bm—2)-(x—2y); d) (5—x)-Qa+ 3b);
e)(a+b—c)-(a+b+c); D(x—a+3)-(x+a-3); g (x+y)-(x—y+4);

h) x=8) - (x+1)-(x=1)

a) (a+ 1)-(@+1); b)y@+b)-(m+n); ¢ T+x)-(5+y); d) (2a—3)-(Bax+ 1);

e) 2x+y)-Qa+b) - Qa—Db); ) (5a+2b)-Bx—=2y); g (a=35)-(a—x); h) (x+4)-(y—4)
a)x? — 16 = (x — 4)- (x + 4); b)25a> — 9n® = (5a —3n)- (54'+ 3n); €)(2x + 5y)% = 4x% + 20xy + 25y%;
d) (7x — 3y)2 = 49x2 — 42xy + 9y?; e) (3ab? + 2)* = 25a%b* + 20ab* + 4;
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1 3
f) 3x — 5)% = 9x? — 30x + 25; g)< X —3y> _EX4_§X y+9y,

h) 9x% — 4y% = 3x — 2y) - (3x + 2y)

+ 1
y,x;ty; e)9

3

2) 2x x#3, 1% 2 b) ~Lx= 5y, y =0 ©) @ tabiaz b a2 x 20,
2 . b-3

x¢—4,x¢3 f)—f b#3,a=20,a#*1; g —2x; x#0, x= x3; h) —2:¢c#0,c# %5
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cd)yx==,x=—
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A kifejezéseknek nincs értelme, ha: a) x=0, x=y; b) x= —; c)x



